
Giải toán lớp 5: Đáp án bài 1 trang 57 SGK Toán 5 tập 1 

HỌC TẬP - LỚP 5  - TOÁN LỚP 5 

Bài 1: Nhân nhẩm: 

a)1,4 x 10 

2,1 x 100 

7,2 x 1000 

b)9,63 x 10 

25,08 x 100  

5,32 x 1000   

c) 5,328 x 10 

4,061 x 100 

0,894 x 1000 

Đáp án 

a)1,4 x 10 = 14 

2,1 x 100 = 210 

7,2 x 1000 = 7200 

b) 9,63 x 10 = 96,3  

25,08 x 100 = 2508 

5,32 x 1000 = 5320 

c) 5,328 x 10 = 53,28 

4,061 x 100 = 406,1 

0,894 x 1000 = 894 

 

https://doctailieu.com/dap-an-bai-1-trang-57-sgk-toan-5-tap-1
https://doctailieu.com/hoc-tap-c106
https://doctailieu.com/lop-5-c171
https://doctailieu.com/toan-lop-5-c172

